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ACHARYA VIDYA KULA
Ill Assessment —January 2019

STANDARD: VI, sTD
SUB: PHYSICS

GENERAL INSTRUCTIONS

MAX MARKS: 20
MAX. TIME: 30Minutes

° Answers to this paper must be written on the paper provided separately.

e You will not be allowed to write during the first 5 minutes.
e This time is to be spent in reading the question paper.

e The time given at the head of this paper is the time allowed for writing the

answers.

® Read the questions carefully and write the question numbers clearly as given in

the question paper. Follow the same system of numbering as given in the

question paper. Follow the instructions carefully and answer to the point.

e The intended marks for questions or parts of questions are given in brackets| ]

Question 1

a) Choose the correct answer:
The external force applied to a machine is called

1.
2.
3.
4.

Load

Mechanical advantage
Effort

Velocity ratio

Efficiency of an ideal machine is

1.
2.
3.
4.

Less than 100%
Equal to 100%
More than 100%
None of these

The ratio of effort arm to the load arm in lever gives

1.
2.
3.
4.

Mechanical advantage
Effort

Velocity ratio
Efficiency

For the levers of first order

1.

MA=1

2. M\AA<1
3.
4. All of these

M.A>1

1/2x6=3
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V. Screw driver is an example of
1. Inclined plane
2. Screw
3. Pully
4. Wheel and axle

VI.  The source of light which is called as cold light
1. Bulb
2. Glow-worm
3. Tubelight
4. Candle flame

b) Write true or false and rewrite false statement correctly 1x4=4

I. Lubrication of parts of machine prevents corrosion of machinery

Il.  Aflag post has a movable pulley attached to it

. Awedge is double sided inclined plane

IV.  Greater the mechanical advantage of a machine, more effort is required to lift

the load.
c) Give reason for the following 1x3=3

I Mechanical advantage of clagi- Il lever is always greater than one

Il Inclined plane acts like a force multiplier

11l. Single"’pulley is better than single fixed pulley to lift a load.
mevable

Question 2

a) Identify the position of fulcrum, effort and load, and name claggof lever for the
following examples (3)
. Crow bar
II.  Lemon squeezer
. Human arm
b) Write any two uses of the following simple machine (2)
. Screw
II.  Wedge
c) Can
l. Show diagrammatically ho%the mechanical advantage of a clagi¢one lever can
be increased
Il.  Name the simple machine which changes the direction of force (2)

I.  Alongrod of length 100 cm has its fulcrum situated at a distance of 10 cm
from the load. Calculate the mechanical advantage of the rod. (3)

Il.  Show diagrammatically convergent beam and divergent beam of light

2




